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PC = Cr + Pl + energy

ADP - Pi + energy = ATP
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PC + ADP - ATP +Cr
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Lactic Acid System(& At A|AEl)
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1 Glucose(E=Y) =2 ATP + 2 pyvruvic acid
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Aerobic System(SAt4A A|AH)

A4 AAHFMAA S 0E)  0IE2E 00 &
LI, 33 A 9l=(kreb’s cycle)@t M Xl M S Hl(electron
transport chainl= /1&& - 38JH ATP

JEHA 9= (kreb’s cycle) : MHI0] S0 2 SAIS2 Ao}
CIHAM QI XIE StS)| |10l Bt=EA| 2-E2§2AZ X2 OIS
2842 Alacetyl Co A= S0 JHA 9= E Sii0}
ol S0H

EI-OlE(EEY) : HEMA (XM T A Acetyl-Co Al
X2 triglyceride) : HlErMRHE 2l X2 & - Acetyl-Co ‘Al
CHUH X1 - 010l 2H2(0H0] =2 - AcetyL-Co Al






=S Y XA 215

ATP-PCO 2=



(=)
-_—0

N XA 2|5
o AL A\|AHIO| HS(Z2|DAI/AAN
- 2A12 Bt 2 4 H3

oAlZt it £ 5 5% Y=
2412t 1l = 100% IHE

25% MIH
% HIH

0-20=2 80 JIH2 2S(ZF, A A EDIS
l



10A1Z2H0ll 60% HHE S

A8A1Z2H0 100% 2=



